
Page: 1

        GUIDE D’INSTALLATION
        INSTALLATION GUIDE

                

ZETTI NALTO

ZE
TT

I N
AL

TO
 2

02
5



Liste de pieces / Part list

Quincailleries / Hardware

Pièces & Quincailleries - Parts & Hardwares Instructions 
Étape 1: ASSEMBLER LES ANCRAGES AVEC LA BARRE AVEC LES BOULONS ALLEN #4 ET #5.
STEP 1: ASSEMBLE THE ANCHORINGS TO THE FLATBAR WITH THE #4 ET #5 ALLEN BOLTS.

Outils nécessaires / Tools needed:
1x Allen 4mm
1x Allen 5mm

Étape 2: FIXER L’APPUIS-PIED ASSEMBLÉ AU BAS DES PATTES AVEC VIS 1/4 - 20.
STEP 2: FIX THE ASSEMBLED FOOT REST TO THE BOTTOMS OF THE LEGS USING 1/4 - 20 SCREWS.

4x #5 Allen Nut/
Ecrou Allen #5

4x #4 Allen Bolt/
Boulon Allen #4

8x 1/4 - 20 x 3/4”

Pièces & Quincailleries - Parts & Hardwares Instructions 
Étape 1: ASSEMBLER LES ANCRAGES AVEC LA BARRE AVEC LES BOULONS ALLEN #4 ET #5.
STEP 1: ASSEMBLE THE ANCHORINGS TO THE FLATBAR WITH THE #4 ET #5 ALLEN BOLTS.

Outils nécessaires / Tools needed:
1x Allen 4mm
1x Allen 5mm

Étape 2: FIXER L’APPUIS-PIED ASSEMBLÉ AU BAS DES PATTES AVEC VIS 1/4 - 20.
STEP 2: FIX THE ASSEMBLED FOOT REST TO THE BOTTOMS OF THE LEGS USING 1/4 - 20 SCREWS.

ZE
TT

I N
AL

TO
 2

02
5



Étape / Step 1

Étape / Step 2

Fixer avec 4 vis mecaniques 1/4 - 20
Fix with 4 mecanical screws 1/4 - 20

Page: 1

16x 1/4 - 20 x 3/4”

Assembler les pattes sous la table avec 16 vis 
1/4 - 20 et 16 vis à bois #12 x 1’’.

Assemble the legs under the top with 16 1/4 - 20 
screws and 16 wooden screws #12 x 1’’.

A

DETAIL A
SCALE 1 : 2

Page: 3

assemblez les ancrages au bas des pattes avec vis 1/4 - 20 x 1.25.
assemble the anchors at the bottom of the legs with 1/4 - 20 x 1.25 screws.

A

**IL EST IMPORTANT DE NE PAS TROP SERRER LES VIS AFIN DE FACILITER LES PROCHAINES ÉTAPES.
**IT IS IMPORTANT NOT TO OVER TIGHTEN THE SCREWS TO FACILITATE THE NEXT STEPS.

Fixer avec 4 vis mecaniques 1/4-20 et 4 vis à bois #12 x 1’’
Fix with 4 mecanical screws 1/4-20 and 4 wood screws #12 x 1’’

Quincaillerie / Hardware

16x #12 x 1’’



Étape / Step 4 (optionnal)

resserez les vis reliant les ancrages aux pattes.
tighten the screws connecting the anchors to the legs.

Étape / Step 3

Assembler les ancrages avec la barre avec les boulons allen 
#4 et #5. 

Assemble the anchorings to the flatbar with the #4 et #5 
allen bolts.

Pièces & Quincailleries - Parts & Hardwares Instructions 
Étape 1: ASSEMBLER LES ANCRAGES AVEC LA BARRE AVEC LES BOULONS ALLEN #4 ET #5.
STEP 1: ASSEMBLE THE ANCHORINGS TO THE FLATBAR WITH THE #4 ET #5 ALLEN BOLTS.

Outils nécessaires / Tools needed:
1x Allen 4mm
1x Allen 5mm

Étape 2: FIXER L’APPUIS-PIED ASSEMBLÉ AU BAS DES PATTES AVEC VIS 1/4 - 20.
STEP 2: FIX THE ASSEMBLED FOOT REST TO THE BOTTOMS OF THE LEGS USING 1/4 - 20 SCREWS.Outils nécessaires / Tools needed:

1x Allen Key/clé 4mm
1x Allen Key/clé 5mm

assurez vous que la barre est placée dans le bon 
sens pour que les trous soient alignés avec ceux 
des ancrages.

make sure that the bar is placed in the right 
direction so the holes are aligned with those of 
the anchors.



Étape / Step 5 (optionnal)

(Si vous avez des pattes de bois et que vous avez de la difficulté à assembler l’appuis-pied.)
(If you are using wooden legs and the foot rest is hard to assemble.)

Dévisser les 2 vis pour obtenir l’ajustement 
nécessaire, reserrer par la suite.

Unscrew the 2 screws untils you have enough 
room to assemble, tighten afterward.

B

DETAIL B
SCALE 1 : 2

Page: 5

Service à la clientèle: 1 800 661-1411 / Customer service: 1 855 459-1954


